TRONAJR

Model: K-1317
Caster Bolt On Kit

*k*%k

Parts List
With lllustrations

06/2002 — Rev. OR

When ordering replacement parts/kits, please specify model, serial number and color of your unit.

1740 Eber Rd Tronair, Inc. Phone: (419) 866-6301
Holland, OH 43528-9794 www.tronair.com 800-426-6301
USA Email: sales@tronair.com Fax: (419) 867-0634




K-1317
Caster Bolt On Kit

This product can not be modified without the written approval of Tronair, Inc. Any modifications done without written approval
voids all warranties and releases Tronair, Inc., its suppliers, distributors, employees, or financial institutions from any liability
from consequences that may occur. Only Tronair OEM replacement parts shall be used.

Parts List

Reference lllustrations on following page.

PART NUMBER DESCRIPTION QTY
K-1317 Kit, Caster Bolt On; consists of:
K-1317-102 1
K-1317-103 2
ITEM PART NUMBER DESCRIPTION oTY
K-1317-102 Kit, Caster Bolt On; consists of:

G-1203-1105 ..oovvveevieevieeeieeeeeeeeeeeee e Jamnut, 5/8-18 ElaStiC.........cccceeeeiiuriiiiiiiiiiiiiireiereee e
G-1250-1100N.... Flatwasher, 5/8 Narrow................
Z-3057-01-01...... Weldment, Tube......ccooeevvvevvvnnnnnnn.
H-2210-11....... Spring, Compression..
U-1053............ Caster, Stem ......ooceveeevviieeeiie,
G-1202-1060 ...... Stopnut, 5/16-18 Elastic ...............

G-1250-1060N.... Flatwasher, 5/16 Narrow
G-1009-18 ......ovviieeeeeiiieieee e (U = o O
i R G-1250-1100W ..eveeiiieieeeeee e Flatwasher, 5/8 WIe.........cuuuuiiiiiiiiieeee e
K-1317-103 Kit, Caster Bolt On; consists of:
o, G-1203-1105 ..o Jamnut, 5/8-18 ElaStiC.........coovuuuuiiiiiiieeieeeeeeee e 1
2 e G-1250-1100N...ccueiciiiiieiee e Flatwasher, 5/8 NAITOW ...........oviiiiiiiiiieiiee e e e eee s 1
Lo, Z-3057-02-0L..cceeeiiiiiiiieeeeee e Weldment, Tube

Spring, Compression..
(082 1S (] S (=] o I
Stopnut, 5/16-18 EIASHC ......coiveeeaiiieeeeiiieecieie e
Flatwasher, 5/16 Narrow

Kit, Caster Replacement; consists of:
T G-1203-1105 ..o Jamnut, 5/8-18 ElaStiC........ccooeuuuuiiiiiieeiiieeee e 1
2 G-1250-1100N....cccviiiiiiiiiiiiiieeeeeeeeeeeeeeee, Flatwasher, 5/8 Narrow ............ccccceeeeieieiii e 1
(S T L 015 7 N (082 1S (] S (=] 0 [P 1
i R G-1250-1100W .coveeiiieieeeee e Flatwasher, 5/8 WIe.........cuuuuiiiiieeiieiee e 1

TRONAIR _
06/2002 — Rev. OR
-1-



K-1317
Caster Bolt On Kit

Parts List

06/2002 — Rev. OR



